1]
IS

mEm X 1500
Z
SRR =54 02 B A ER 2EIRIR L=h,4 1SIREE L=6,3 1SR L=6,0
=30 i1/ N=1, 0zt (3> 2.0 i-1/6 ¥=6,0 i-1/6 7L ¥-6.0 i=1/p
5 B B8 846, 4 ERB LM L=86,0 ERBEM  L=107,0 BOEBEM  L=65,0 ‘}‘ BB L=T1.0
3.0 i-1/6 Df] 5 5 7L
1S LRKEE (400X 400 |- 1S5 SERERR L=2288, 0 1S LK L=37,1 1-25 LEKEE  L=04,4 |15 L BAR 0) IS LEKEE  L=28, 5 15 L 2KE8| (400X 400) IZLAKER  L=65,9 (400% 400) ISR L=64,6
808 g ] 16,8 16,3
L AR (H=1, 79000 X 400) FISLEKE (=228 LB (H=1,75) L=75,0 ISHE 312 IS e L=105,5 LS (K=1,75) LEHE (K=1,75) 4-1248 LESE (=1,75) L=46,0 -5 e LRRE (12,00 L=40,0
L=35.0 13,3 EX |[=5.2] Lrlp <1}8
EERT 097 L=86, 4 LEmE  (8=1,75) L=75,0 WEERT 197 L=86, 0 WERERT 097 L=104,7 WEERT 197 L=35, 4 WEIERT 1) L=69,8 WEIERT 197 L=67,0
BE%E  L1=84,0 HEERT 197 L=86,( e L=84,8 i L=103,5 e L=67,4 ki L=65, 8
B 79— L=84284,3 fIRM N=20,0 S BAE 6200 L=100, 1
1555 ‘%‘ IS8F =748 I54H
=173, 8
1586 L=14,8 j_b % ’:E EJ’ u_/ H]T
2 g (0600)
EE (0600) BE (0600) X (0600 EE (0600) &2 (0600) 5.5
L=26, 6 L=28,5 L= L=25, 4 L=25,7
20,88
I +
[
° 20,78 R % 20,74 o 21,40
“ EWIBA W= g Y
20,66 20, 42 ° 2055 \ /( / \ 1 EE N 2 9;
§ I M ' 20, 75 '
20. 66 ° o
0, 52 20, 76 I N 20,99 |
o 20,43 _ _ ER (D300) = g s
20, il § f 20, 40 o000 g § L=7,3 ; ; Z’:
o 20,67 g - g - T 5
jL _— 22 . T 2N, 21.fo
T Il o Lod—
20E — e 2l o8 — \/ 0
20,68 PR w .21, 55 21,50 *
20, 68 N0 P
\ U 21.70 \ 2,5 o 21,02
it ho 21,48
20,91 - 1,47 . . . . = . .
w1 e amve vl [/ s // ////%//// /%%GM\X// ///7(/{&[// //////f//////
C [ L A7 771 A T Y7 17— \\ /7 7. / 7 / / / / 7 . 7/ [ 7 7 7 7 7 :
‘ 20, l
/)1, i i /947%07%//%§Q7 /%0%%0%%7%/ V%O7%@7%OQ%%/ |
20,75 §
&) — VA V4 VA )) VA VA 21'/ VA X V4 _’_ﬁc \\“ \e))\A_AL( VAR ‘|/ / /7 7 (G)L /\l TE"”
23 £ El 54
/ \ - 1,38 o4z aA_— — .am 1-54 \ ll
\ \ / " i / _ h\x L5 . _ 21,34 1P
E Vs 0N £ 2.0 . 4 ) L 2, = 21,68 A / 0y T 9+ -:3°
o (R ‘ T 21,34 g ‘ 21,63 :
2 ree — f = ——— \\ = /
VP200 | 1, 51 ° b1, 82 21,67
VP$200 v As 2l.32 1 I Il
o " s = \ \ 418 I
(600 600) . _ 214
5 BzR (B1200XHT00% L=52, 0 (26, 0X2) (600X 600) .
! \ - 1.79
ER (030 18 TR 2118 | * 21,85 Gy,
Ny o Lo (X802 M | ) TS
‘ 'U 21,31 ° o ° 21,28 o \ 21,43 . 21,74
21, 64 . 21,36 10 21.29 s 21,23 \ ' " 21,07
§ ° 6 °
K 21,12 - o v M P + . v sen " 2.8 oot ° 22,01
. 2Ly 2 20,99 7 21,08 \ oL : 2,04 I.GQQZIJB
® 21,13 21,3 © 21.30 ’ 21.51 I jL | .22 19
(B v [ SCo(, 57 21,94 . +
ﬁ@/ f ° 21,35 p H
v B 21, 5 128 12];);2 I 21,58 !
21.88 N . 21,38 2153 e 21,67 o 22,00 2,
6 . ° -6 22,00
21,62 o .67
N 21,1 ‘% - 22,04 21,96 & .05 S
1,66 22,05
I °
124l 1-173.8 1285 L74,7 IS8T L4 ] =270, 4 .
187y 5= L1319 EPEENETY. s - \ ' //
AEM N-11,0_| L HEM N10.0 125y 9 1302 18%ivg— 13153 g BB 0200 L=104,9 ‘
BEAE 6200 L=18,1 BAKE 6200 =43, 1 / e
E% =459 ‘f BERE  1=80, | e =100, 1 Bk 16l 4 G294 237 =T.4 BhE L1031
WEERT Iy 1286 LRI04 |
WRIERT 097 WHIERT 197 =89, | WRERT 097 TL WEERT 17 L=110,3 WHIERT 1) L=38,4 WRIERT 097 =47, 1 [=0,8 WHERT D) L=105,4
ISHE =479 JEHE  L=02.0 32 IS He L=77.?—%" (H=1,75) L=34,0 LEGE (b=1,75) 1=35,0 -1t L8 (1175 L=40,0 | [=2.00) -2 e LW (=200 1=26,0
o e [=22]gm (#=2,00) L=6,0 7% 6.0 1=T)8 g2 (H=2,25) L=06, 0 KT L=103, 1
3SLAKE  L=47,9] (500X 500) IZLAKE  L=94,0 3= LBk (500X 500) 15 k¥ (500X 500) IZLEKER  L=107.8 35 L Bk (500X 500) IELEAR  L=46,0 (500X 500)| 35 L #kig (5005 IS LEAEE  L=106,0
[=8,7 L=14,5 =10 1=12,4 L3, 0 .2 L=1,8 | 5,3 WHRIERT 090 L=105,1
WEBLEW L=47.0 EEBEM  L=04,0 IR | WEBEM  L=113,0 A0 SRR L=46,0 7L LR | BEBLEM  L=108,0
5%HR%5EES'

N=1, 0

3SR 1=2,4

2SIRI =48

—— LERE L0 0 i

11,0 (e -
35RE 6.6 2SHRHE 13,6 32 16,0 (H2.25) L=26.0  L=0.0

w*3.0 i=1/8 VI=2.0 i=1/6 ¥=3,0 i=]/6

(AR 6 X &

VY

—_—

=3 B | ¥Rk FE % ET =
iz EE 4 385 (BRILTX)

I %4 #*t FABAa

v [ fL&at BRIUET

m & T om HQ3)

& R S=1:500 HmEES /
ERERAHB F Rk T A =]
E=J s

EXEA FINRPE L KREIFH




